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1. Evaluate /x(3x2 —9Ydr = — (32> -9 +C

! 1 1
2. Evaluate P EEE—— dl‘ = =
/0 (1+/x)* 6

! 224/2 —
3, Find/ V14 22 dr = ﬂ
0 _ 105

4. Evaluate /2 (2% 4 cosx)sinz dv = _0_

%
5. The formula for the inverse of the function f(z) = vz — 2is f~'(z) = 2* +2

The domain of f~tis x >0

6. Evaluate /tan@ dd = In|sect|+C

1
7. State the definition of the natural logarithmic function: Inz = / n dt,x >0
1

8. (H_248) If f(x1) # f(z2) implies 1 # x5 then we say that function f is one-to-one.

True or false : False
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I cosx
1. Evaluate / I R dx.
o l+sin“z

X.

i1
. Evaluate —d
/0 V1 — 422

1 3
3. Evaluate / ( n:c) dx.
X

4. Use logarithmic differentiation to find the derivative of y =

5. Let f(z) = 22 — cos .
(a) Show that f is one-to-one.  (b) Find (f_l)/(—l).

s
6. Prove the identity tan"' x4 cot 'z = 5

rivaZ 1

(3x +2)°
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